JGS 1521 ( ) 1/6
°o C 2 2008.08.08
B-2 (T.P.+2.55m)
S N S cn__es0xt2.5 | Aml 7.07x10%
kN 500 ( )
”””””””””””””””””” KkN/mz | 218 | |
t mm
i fu/m min 1 2 3 4 mm mm
0.0 0.0 11:00 0 0.00 0.00 0.00 0.00
15.0 417, 10| o 0.06 | 0.18 | 0.08| 0.15 | 0.12 | 0.12
.0 0.0/ 11:00| o] 0.06 | 0.19 | 0.08| 0.15 | 0.12 | 0.12
.0 0.0/ 11:01| 1| 0.06 | 0.19 |  0.08| 0.15 | 0.12 | 0.12
15.0 417, 10| o 0.06 | 0.20 |  0.00 | 0.15 | 0.13 | 0.13
.0 0.0 11:01| o 0.06 | 0.20 |  0.06 | 0.15 | 0.12 | 0.12
.0 0.0 11:02| 1] 0.06 | 0.20 |  0.06 | 0.15 | 0.12 | 0.12
30.0 83.4 11:10 0 0.18 0.47 0.16 0.38 0.30 0.18
oo | 1] 0.22 | 0.58 | 0.32| 0.46 | 0.40 | ¢ 0.28
S| 2| 0.22 | 0.58 | 0.32| 0.46 | 0.40 | ¢ 0.28
. o1u:s | s 0.22 | 0.62 | 0.3 | 0.48 | 0.42 | o 0.30
1m0 0] 0.22 | 0.64 | 0.3 | 0.49 | 0.43 | o 0.31
115 | 1 15 0.23 | 0.65 | 0.3 | 0.50 | 0.44 | 0.32
o 11:30 | 20| 0.25 | 0.68 |  0.39 | 0.53 | 0.46 | 1 0.35
1| 25 0.25 | 0.70 | 0.0 | 0.54 | 0.47 | 1 0.36
. 140 | 30| 0.25 | 0.70 | 0.0 | 0.54 | 0.47 | 1 0.36
60.0 166.8 11:41 0 0.58 1.30 0.80 1.08 0.94 0.82
Co142 | 1] 0.64 | 1.40 | 0.87 | 1.18 | 1.02 | 0.91
o143 2| 0.67 | 1.45 | 091 | 1.3 | 1.07 | 0.95
. 16| 5| 0.70 | 1.49 | 0.94 | 1.6 | 1.10 | 0.98
Cwm w0 om | us | oe | 1am iu | 1o
1 11:56 15 0.75 1.58 1.00 1.35 1.17 1.05
o wos| e e 1 1| w00
1208 25| 078 | 164 | 104 138 | 121  1.09
12:11 30 0.78 1.64 1.04 1.39 1.21 1.10
0.0 834 1212 0 072 157 | 09 13| 115  1.03
12:13 1 0.71 1.53 0.95 1.31 1.13 1.01
12014 2| 0.71 | 153 | 0.95 | 130 | 1.12 | 1.01
. 1217 s 0.71 | 153 | 0.95 | 1.30 | 1.12 | 1.01
0.0 0.0 12:18 0 0.54 1.35 0.77 1.11 0.94 0.83
w1 os | vw | om|  am | os | os
w20 2f 052 129 072] 109 | 0.91 | 079
12:23 5 0.51 1.28 0.72 1.09 0.90 0.78
0.0 834/ 1224 0 06l 140 | 08| 118  1.00 | 0.8
2 125 1) 063 142 | 085 121 |  1.08 | 0.9
126 2/ 063 143 | 0.8 121 | 1.08 |  0.92
12:29 5 0.63 1.43 0.86 1.22 1.04 0.92
60 166.8 12:30 0 1.15 1.15 1.15 1.15 1.15 1.03
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